
2. SOME HIDDEN LINES REMOVED FOR CLARITY.

4

BERG, INC.
499 OCEAN AVE
EAST ROCKAWAY, NY 11518
(516) 599-5010
FAX: (516) 599-3274

3

BOSTON GEAR
14 HAYWARD ST
QUINCY, MA 02171
(800) 343-3353
FAX: (704) 588-1994

2

DUFF-NORTON
P.O. BOX 7010
CHARLOTTE, NC 28241-7010
(800) 477-5002
FAX: (704) 588-1994

4

4

4

3

3

2

1

1

NOOK INDUSTRIES, INC.
23200 COMMERCE PARK ROAD
CLEVELAND, OH 44122-5869
(800) 321-7800
FAX: (216) 464-4669

)( 68.10 [1729.78]

)( 45.75 [1161.95]

)(14.61 [370.99]

- 3.94 [100.00]

)(15.94 [404.99]

SCALE: 1:4

LIFTING DETAIL

SEE LIFTING DETAIL

63930

46 T6 FLOOR PLATE SEE DETAIL 3P4105090506-250003

46

- .39 [10.00]

+ 5.91 [150.00]

63.85 [1621.83]

 TYP)( 3.50 [88.90]

38.75 [984.15]

48.23 [1225.00])( 20.50 [520.70]
SEE DETAIL "H"

SEE DETAIL "F"

E

E

D

D

C

B

A

9 M4 X .7 X 25 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

8 M4 X .7 X 20 SOCKET HEAD CAP SCREW SST 2COMMERCIAL STD

36 37 38

32

33

27

45444342

45 FLAT WASHER .562 X 1.38 X .109 SST 9COMMERCIAL STD

44 HELICAL SPRING LOCK WASHER .50 STD SST 45COMMERCIAL STD

43 .50-13 HEX NUT SST 45COMMERCIAL STD

42 .50-13 X 2.00 SOC SET SCR OVAL PT SST 9COMMERCIAL STD

41 .50-13 X 1.50 SOC SET SCR DOG PT SST 36COMMERCIAL STD

40 .25-20 HEX NUT SST 3COMMERCIAL STD

36 .38-16 X 1.00 HEX HEAD CAP SCREW SST 12COMMERCIAL STD

39 .25-20 X 2.00 THREADED ROD SST 3COMMERCIAL STD

38 FLAT WASHER .406 X 1.00 X .083 SST 24COMMERCIAL STD

37 HELICAL SPRING LOCK WASHER .38 STD SST 24COMMERCIAL STD

28 .25-20 X .50 SOC SET SCR CUP POINT SST 12COMMERCIAL STD

35 .38-16 X .88 HEX HEAD CAP SCREW SST 12COMMERCIAL STD

34 .38-16 X .75 SOCKET HEAD CAP SCREW SST 12COMMERCIAL STD

33 .31-18 X 1.50 SOCKET HEAD CAP SCR SST 4COMMERCIAL STD

32 .25-20  X 2.25 SOCKET HEAD CAP SCR Z 12COMMERCIAL STD

31 .25-20 X 1.00 SOCKET HEAD CAP SCR SST 24COMMERCIAL STD

30 .25-20 X .75 SOCKET HEAD CAP SCREW SST 18COMMERCIAL STD

29 .25-20 X .75 FLAT HEAD CAP SCREW SST 4COMMERCIAL STD

27 .25-20 X .38 SOC SET SCR CONE POINT SST 1COMMERCIAL STD

26 8-32 X .75 SOCKET HEAD CAP SCREW SST 42COMMERCIAL STD

25 6-32 X .50 FLAT HEAD CAP SCREW SST 21COMMERCIAL STD

24 Ø.50 X 48.13 LG GRD SHAFT W FLATS SEE DETAIL 1LMS-48-48.13

23 Ø.50 X 11.19 LG GRD SHAFT W/FLATS SEE DETAIL 1LMS-48-11.19

22 Ø.50 X 8.75 LG GROUND SHAFT W/FALTS SEE DETAIL 1LMS-48-8.75

21 UNIVERSAL JOINT .50 BORE W/SETSCREW SEE DETAIL 3J100B

20 UNIV JOINT .63 X .50 BORE W/SETSCREW SEE DETAIL 3J125B

19 MITER GEAR BOX SEE DETAIL 1SK2516GG100B

18 MACHINE SCREW 1 TON UPRIGHT 20:1 SEE DETAIL 31MSJ-U-6.75 TRAVEL 20:1

17 T6 ADAPTER PLATE SEE DETAIL 2P4105090506-210012

16 T1 SPHERICAL COUPLING ASSEMBLY SEE DETAIL 3P4105090501-820800

15 T6 MITER GEAR HEX SHAFT EXTENSION SEE DETAIL 1P4105090506-250010

14 T6 MITER GEAR BOX SPACER SEE DETAIL 1P4105090506-250009

13 T6 RAIL WEDGE 15.75 LG SEE DETAIL 3P4105090506-250008

12 T6 LEG GUIDE TOP PLATE SEE DETAIL 3P4105090506-250007

11 T6 JACK TOP SPACER SEE DETAIL 3P4105090506-250006

10 T6 JACK BOTTOM SUPPORT SEE DETAIL 3P4105090506-250005

7 T6 SCREW SHAFT NUT HOUSING SPACER SEE DETAIL 2P4105090506-250002

6 T6 150mm MOTOR & TRANSDUDER ASSY SEE DETAIL 1P4105090506-250300

5 T6 75mm MOTOR & TRANSDUCER ASSY SEE DETAIL 2P4105090506-250200

4 T4 100mm TRAVEL VERTICAL STAGE ASSY SEE DETAIL 3P4105090504-220000

3 T4 CARRIAGE ASSEMBLY SEE DETAIL 3P4105090504-330000

2 T6 LEG FRAME SEE DETAIL 1P4105090506-250001

1 T6 CHASSIS SEE DETAIL 1P4105090506-250100

24

22 20 2319

16

14 15

6

5

5

4

3 1

2

0 3 9 3 6

1. ALL DIMENSIONS SHOWN IN [ ] ARE MILLIMETERS

NOTES:

AND ARE FOR REFERENCE USE ONLY.

A1947401

P4105090506-250000-01

T6 6-CIRCLE
GONIOMETER SUPPORT

ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.127]

0°30’

125
K. COSTELLO 6-29-94

1:4

E1 2

7-27-94T. KUZAY

7-27-94D. SHU

7-14-94BARRAZA

7-14-94COSTELLO\BARRAZA

7-14-94BARRAZA
APPROX. WEIGHT: 1018 LBS. (461.8 Kg)

HORIZONTAL MOTION:  –30MM X 70MM
VERTICAL MOTION:    –50MM PRECISION
VERTICAL MOTION:    160MM  COARSE

MOTION REPEATABILITY: 50 MICROMETERS
LOAD CAPACITY:      1000KG/2200 LBS

OPERATING MODE:     STEPPER MOTOR/MANUAL
MOTION RESOLUTION:   10 MICROMETERS

48 FLAT WASHER .281 X .625 X .065 SST 24COMMERCIAL STD

47 HELICAL SPRING LOCK WASHER .25 STD SST 24COMMERCIAL STD

SEE SHEET 2 of 2 FOR SECTION VIEWS & DETAILS.

01 KWC

ITEM 8 WAS M6 QTY WAS 3; ITEM 9 WAS M6 QTY WAS 6
ITEM 32 WAS 2.50; ITEM 25 QTY WAS 42; SHEET 2 WAS D-SIZE;

UPDATED VIEWS

01 KWC JB 1-95


